SA:

Al

FHa: S4 M3 2D HESHsEHYN /=S - 5E)

B@el: MsE HAR PS5 (&2 &8)

SA-HH . C(BH) - HEANY - BYS Ofl &y JE3H | BmA=J
Fot 16,169,200 12,934,254 3,234,946
= 10,800 10,666 134
2 9,596,445 8,016, 174 1,580,271
& 6,561,955 4,907,414 1,654,541
S6MY M3 20 HESH(sEMLSN/sY - 5E) 16,137,198 12,902, 252 3,234,946
= 10,800 10,666 134
2 9,596,445 8,016, 174 1,580,271
== 6,529,953 4,875,412 1,654,541
dsd MAY 2= 270,000 0 270,000
ESTE LB F4 HAF 12,000 0 12,000
308 XX EtH SO0l & 12,000 0 12,000
01 AXSHMBAE 12,000 0 12,000
OSE=EXNE 23 F4 daF 12,000 0 12,000
IIEANE BUE XA 210,000 0 210,000
403 XXM SXE0IH 210,000 0 210,000
01 X EHAE2EE 210,000 0 210,000
OJ=EANE BUs X3 210,000 0 210,000
SMEE HHAAE 9,000 0 9,000
403 XXM SXE=01A 9,000 0 9,000
01 AIXSHA2EE 9,000 0 9,000
OSAEZE HHAAH 9,000 0 9,000
NEE A& 22 NE SE3 XE 39,000 0 38,000
403 XX SRS =0l & 39,000 0 39,000
01 AXEH=2E2x 39,000 0 39,000
ONEZE g &cl Nd 5838 K& 39,000 0 39,000
st HES |4 919,225 905,800 13,425
st BE1Z3E 187,025 173,600 13,425
308 XX EtHI SO0l ™ 180,025 166,600 13,425
01 AXEHIAEES 180,025 166,600 13,425
O&te EENZ3 180,025 166,600 13,425
He - 2E - SN |4 246,736 222,250 24,486
2 5,625 5,625 0
S 241,111 216,625 24,486
LA SO JIEBE HHSAE XS 48,000 39,000 9,000
403 X SHHS =201 & 48,000 39,000 9,000
01 AXSHHM=2EE 48,000 39,000 9,000
O2A=It JIFHE LHSANE XY 48,000 39,000 9,000
Hsae Fgord X3 47,986 46,000 1,986
08 XtXIEHH SOl & 47,986 46,000 1,986
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R i

4 M= 3D FESH (SN LM/ - sE

o Ui - 9 -

LAY =4 (ete: &)
SA-FHY - S(3H) - NRAY - BYS Off &k pIE=E Husz

01 AXEHHMBAEES 47,986 46,000 1,986
Ood=s4Y FHgord X3 47,986 46,000 1,986
HIYYE 2Y Hdus 114,000 100,500 13,500
308 XM S0IH 108,000 94,500 13,500
0O AXSHBANEERS 108,000 94,500 13,500
OFFLE Y HAG 108,000 94,500 13,500
FTA OIS 28 28t 1,736,500 1,078,000 658,500
2l 300,000 0 300,000
& 1,436,500 1,078,000 358,500
Xs8 SMAd =2 398,500 340,000 58,500
403 XXM SX=201 8 398,500 340,000 58,500
01 X EHA=2EE 398,500 340,000 58,500
OXs8 s8tAe X8 398,500 340,000 58,500
S ISR Ml ZH X8 225,000 112,500 112,500
403 TtXIEHSKH=0l™ 225,000 112,500 112,500
0 X SHA=2EE 225,000 112,500 112,500
OUSA JIEBuMelEH K& 225,000 112,500 112,500
ZAZE THHE 2O 2 MM X2 463,500 276,000 187,500
308 At X XSO0l ™ 457,500 270,000 187,500
0 AXESHBLNEERES 457,500 270,000 187,500
OZXAZ THHH =CH & M X 457,500 270,000 187,500
SME AN 243 XA (2D) 300,000 0 300,000
2l 300,000 0 300,000
403 TtXISHHSKH=0l ™ 300,000 0 300,000
2 300,000 0 300,000
01 X SHAH=2EE 300,000 0 300,000
OF4E 2 243 K& 300,000 0 300,000
] 300,000 0 300,000
E4sIF 2EoE TR 9,813,168 8,882,013 931, 155
= 10,800 10,666 134
] 7,313,579 6,888,708 424,871
& 2,488,789 1,982,639 506, 150
ZASMUNILN XY 29 15,000 10,000 5,000
307 2Iztol® 15,000 10,000 5,000
2 DIZHEAMAAE R 15,000 10,000 5,000
OCZLIAEZMNRALN XY X 15,000 10,000 5,000
S04 8 &XI(=21) 192,000 168,000 24,000
Il 160,000 140,000 20,000
= 32,000 28,000 4,000

403 X EtH S X201 H 192,000 168,000 24,000
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A
=R
=L

DEA
DAY M= 20 HESHsEHSLA/sY - 5E)
D BAs) Aoty x|

(B2 @ 3)

2A-F3 - d(3H) - NBAY - BEYS Oil &koH Il Husz
pJ 160,000 140,000 20,000
[ 32,000 28,000 4,000
01 REXISHH RH=E X 192,000 168,000 24,000
Os0INE S &X 192,000 168,000 24,000
p] 160,000 140,000 20,000
[ 32,000 28,000 4,000
|44 S0E Ho2Y X(2D) 60,000 48,000 12,000
p] 50,000 40,000 10,000
[ 10,000 8,000 2,000
308 RHXIEHH SO & 60,000 48,000 12,000
p] 50,000 40,000 10,000
[ 10,000 8,000 2,000
01 IXISHBANEER 60,000 48,000 12,000
ORAH 20 B 2 29 1« 60,000 48,000 12,000
J| 50,000 40,000 10,000
[ 10,000 8,000 2,000
SE0t ZAsH(=1) 7,200 0 7,200
7| 6,000 0 6,000
[ 1,200 0 1,200
308 RHXISHX S0 & 7,200 0 7,200
7l 6,000 0 6,000
[ 1,200 0 1,200
01 HXSHPBARZS2 7,200 0 7,200
0S80t s 7,200 0 7,200
p] 6,000 0 6,000
[ 1,200 0 1,200
S#NRTAX|(2D) 2,574,548 2,413,104 161,444
J| 2,271,660 2,129,210 142,450
[ 302,888 283,894 18,994
308 RHXIESHXI S0 & 2,574,548 2,413,104 161,444
p] 2,271,660 2,129,210 142,450
[ 302,888 283,894 18,994
01 AXSHPAEES 2,574,548 2,413,104 161,444
osnNeRIA X 2,574,548 2,413,104 161,444
p] 2,271,660 2,129,210 142,450
[ 302,888 283,894 18,994
NEWHEE K 450,000 180,000 270,000
308 RtXISHH SO0 & 450,000 180,000 270,000
01 HXESHHPBARE2 450,000 180,000 270,000
OINEMHEE X 450,000 180,000 270,000
A 200 X 149,760 129,024 20,736
308 XHXIEHHI S 0| ™ 149,760 129,024 20,736
01 X SHPABE2 149,760 129,024 20,736
O=MEIF &0 XN 149,760 129,024 20,736
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SN BAD

HY: SAQ M HD YEN(SAHLLM/SY - 5&)

Cel: mAMSDl AYoH X (T
A -8 - dA(3H) - NEMY - BES Ofl &koH JIFH Husz
AN EZE YESY 20,000 15,000 5,000

308 XHXI EHHI S 01 & 20,000 15,000 5,000
01 HXSHHZARED 20,000 15,000 5,000
O2R EZZT YESH 20,000 15,000 5,000
TAYENR(2D) 10,800 10,666 134
= 10,800 10,666 134

308 XHXIEHHI S 0| & 10,800 10,666 134
= 10,800 10,666 134

01 HXSHZBARED 10,800 10,666 134
OTALEX 10,800 10,666 134

= 10,800 10,666 134

JEDIENSXR(2D) 19,800 30,000 A10,200
I 19,800 30,000 210,200

308 XX/ M S0I & 19,800 30,000 210,200
p] 19,800 30,000 A10,200

01 AXSHBARED 19,800 30,000 A10,200
OJIEIESMNEX A 19,800 30,000 210,200

| 19,800 30,000 210,200

SANALEE(2D) 301,467 566, 667 A265,200
p] 266,000 500,000 A234,000

[ 35,467 66,667 AB31,200

403 T XIEHRIS K0l | 301,467 566, 667 A265,200
p 266,000 500,000 A234,000

= 35,467 66,667 A31,200

01 AXSH R =EEE 301,467 566, 667 265,200
OZAAI B3 ALY 301,467 566, 667 265,200

y 266,000 500,000 A234,000

= 35,467 66,667 A31,200

EANBMAE ALRIXHE XR/(2D) | 2,564,800 1,960,000 604,800
p 1,832,000 1,400,000 432,000

= 732,800 560,000 172,800

308 X+XI €M SO & 2,564,800 1,960,000 604,800
ol 1,832,000 1,400,000 432,000

< 732,800 560,000 172,800

01 AXSHBAETS ' 2,564,800 1,960,000 604,800
OXAE MAE AYRX HMEXE 2,564,800 1,960,000 604,800

p 1,832,000 1,400,000 432,000

< 732,800 560,000 172,800

ENBMAE ZXNEH(2S) NY(2D) 10,521 0 10,521
I 10,521 0 10,521

308 XHXIEHHI S OI & 10,521 0 10,521
p 10,521 0 © 10,521

0 XS AEES 10,521 0 10,521
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HA E=AD
HY: S0 MR 2D YES (SUHLLA/5Y - 52)
BH9: ATl HYOE X CERE))
:
2A-ZH . (3) - HEANY - BYS 0ff Ao 8 Hnsz
RN EES EZICENE 10,521 0 10,521
7| 10,521 0 10,521
AR SRR N (2D) 87,480 77,760 9,720
7| 72,900 64,800 8,100
= 14,580 12,960 1,620
308 Xt XIEHRI SOl & 87,480 77,760 9,720
7| 72,900 64,800 8, 100
= 14,580 12,960 1,620
01 RIXISHHEAEES 87,480 77,760 9,720
OZAZ BEBP XY 87,480 77,760 9,720
7| 72,900 64,800 8,100
= 14,580 12,960 1,620
ZASHAZ JHEHRY XH(2D) 256,000 192,000 64,000
p] 160,000 120,000 40,000
= 96,000 72,000 24,000
403 XX EHHIS K201 & 256,000 192,000 64,000
7| 160,000 120,000 40,000
[ 96,000 72,000 24,000
01 XIS EEE 256,000 192,000 64,000
OXAZ MA I - HHIRY N 256,000 192,000 64,000
7| 160,000 120,000 40,000
= 96,000 72,000 24,000
AR FEEUC 5LY A3 180,000 168,000 12,000
308 XiXI BRSOl & 180,000 168,000 12,000
01 IXISHHBAEES 180,000 168,000 12,000
O AYEEUC LA SA3 180,000 168,000 12,000
X&ots 28 =4 |4 2,820,080 1,482,700 1,337,380
Il 1,701,000 845,600 855,400
= 1,119,080 637, 100 481,980
e 08 B4 216,100 106,900 109,200
308 XHXIEHRI S0l ™ 210,000 100,800 109,200
01 AXEHBAE X2 210,000 100,800 109,200
ON=ERL 0|8 B4} 210,000 100,800 109,200
IIEEL YIS KR (2D) 300,000 210,000 90,000
Il 950,000 175,000 75,000
= 50,000 35,000 15,000
403 XX EHRIS RH201 ™ 300,000 210,000 90,000
7| 250,000 175,000 75,000
= 50,000 35,000 15,000
01 IXISHHXHEE X 300,000 210,000 90,000
ONEEL & - AHIE X 300,000 210,000 90,000
7| 250,000 175,000 75,000
< 50,000 35,000 15,000
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2 A

.

Fu: =M B2 D YEHSYHYLM/S5Y - 5&)

B9 N&dts A8 =4 |4 (B9 &R)
2A-38 . S2(3H) - HFANY - HES Oil &4 JNEA HusZ
tERE FEHES NR(2D) 621,120 74,400 546,720

pJ 517,600 62,000 455,600

T 103,520 12,400 91,120

403 XX SHH S XHROI B 621,120 74,400 546,720
b 517,600 62,000 455,600

£ 103,520 12,400 91,120

01 RXISH 2R 621,120 74,400 546,720
otEELn FaMES KR 621,120 74,400 546,720

p 517,600 62,000 455,600

€ 103,520 12,400 91,120

WY HEE KR (2D) 123,900 215,400 £91,500
p] 82,600 143,600 A61,000

= 41,300 71,800 30,500

403 XtXISHH S XHRO| 123,900 215,400 A91,500
p 82,600 143,600 261,000

= 41,300 71,800 30,500

01 RXISH =S 123,900 215,400 £91,500
OUHIHFE X 123,900 215,400 £91,500

p 82,600 143,600 261,000

= 41,300 71,800 30,500

HYREHRSEE(2D) 480,000 80,000 400,000
p 360,000 60,000 300,000

< 120,000 20,000 100,000

403 XX SHH S XHR O 480,000 80,000 400,000
p 360,000 60,000 300,000

S 120,000 20,000 100,000

01 XX BHH =SS 480,000 80,000 400,000
O%HIRE M2XX 480,000 80,000 400,000

p 360,000 60,000 300,000

& 120,000 20,000 100,000

tEEL AL N 180,000 0 180,000
403 X SHHSXHR O 180,000 0 180,000
01 RXISH =S 180,000 0 180,000
OEEL $EAL X 180,000 0 180,000
BHSRMNASHI| N (2D) 12,960 0 12,960
p] 10,800 0 10,800

= 2,160 0 2,160

403 XHXI S A S XHROI 12,960 0 12,960
p 10,800 0 10,800

= 2,160 0 2,160

01 RXISH SRS 12,960 0 12,960
OBUERINASHI| X 12,960 0 12,960

pJ 10,800 0 10,800

= 2,160 0 2,160
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.

FH: JMY = 3 HE(SEHLSA/5 - 5F)

B9l XNHIks AEd [ 24 (o
A -3Y - S2(5H) - HIRAMY - BES O &k 4 N Hunsz
UHEREEFI| NA(2D) 90,000 0 90,000

Jl 75,000 0 75,000

== 15,000 0 15,000

403 XS HS K20 & 90,000 0 90,000
pJ 75,000 0 75,000

== 15,000 0 15,000

01 XS =2E 90,000 0 90,000
OUHIR=TTHI| XY 90,000 0 90,000

pJ 75,000 0 75,000

== 15,000 0 15,000
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